A. Asociaciones Publico Privadas 00

(APP’s) (A=ask i 0.00 0.00 0.00| 0.00, 0. 0.00
a)APP 1 0.00| 0.00] 0.00 0.00 0.00 0.00
b) APP 2 0.00 0.00 0.00/ 0.00 0.00 0.00
c) APP 3 0.00 0.00] 0.00] 0.0 0.00 0.00]
d) APP XX 0.00] 0.00| 0.00 0.00 0.00 0.00

B. Otros Instrumentos (B=a+b+c+d) 0.00| 0,00, 0.00 0.00 0.00] 0.00f
a) Otro Instrumento 1 0.00] 0.00] 0.00 0.00 0.00 0.00
b) Otro Instrumento 2 0.00 0.00 0.00 0.00) 0.00] 0.00
€) Ofro Instrumento 3 0.00] 0.00} 0.00 0.00 0.00] 0.
d) Otro Instrumento XX 0.00] 0.00| 0.00 0.00 0.00 0.

C. Total de Obligaciones Diferentes =

deFi jami (C=A+B) 0.00 0.00 0.00 0.00 0. PS_

i L\(&a\ \)\ﬁ ‘



